Calculus BC – Chapter 11 - Even Answers (F.T.D.W.)
Section 11.7
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12. cylindrical coordinates: 
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spherical coordinates: 
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14. cylindrical: 
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16. cylindrical: r = z,   spherical: 
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18. Cartesian: 
[image: image23.wmf]2

2

sin

2222

cos

1sincos

f

f

rfrf

=Þ=Þ

x2 + y2 = z2 ,    cylindrical: r2 = z2 

20. cylindrical: 
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22. Cartesian: multiply by 
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 to get x2 + y2 + z2 = 6z , cylindrical: r2 + z2 = 6z

24. Cartesian: multiply by 
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 to get x = -3 , spherical: 
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26. cylindrical: r2 + z2 = 3 & 
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28. Cartesian: x2 + y2 + z2 = 4 & 
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30. Cartesian: 
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32. sphere, radius = 1
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40. circle at z = 
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44. torus, for any given plane,
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 is a circle with diameter 1 (recall polar graphs)
Note: When using winplot spherical equations, r(t,u), t = 
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 and u = 
[image: image45.wmf]f

.

46. cardioid rotated about the z-axis (symmetry due to the revolving plane 
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 (see #44)
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 rotated circle (torus)     46. [image: image48.jpg]


 rotated cardioid (apple!)
450 line in the
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if r can be negative
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